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1 X~ N(35,625) i p(X240) = p(Z=2) = 00228 ik p(X=c) = 01532 = @-l(09)
e = 35+25x971(09) = 3820
2. p(X>4) = p(z>i‘-i— = 0.15@4;; = ©71(085) (4 ~a) = bx D1(0.85) —(1)
p(X=3) = p(zS-%’) = 0.7@3;—“ = ©1(0.70)..(3-a) = bx -1(0.70) —(2)
D=2 1 = b(®-1{0.85)— D-1(0.70)) b = 1 = 1.953
- (®7(085) (0.70)) (®-1(0.85) - ©-1(0.70))
-1
Subinto (1): @ = 4— 27(0.85) = 1.976

(2°1(0.85) - &-1(0.70))

3.a.i p(%X+4> 16) = p(X>24) = p(Z>‘24;20) = p(Z>§) = 0.0912

ii. p(21X1-5<45) = p(IX] <25) = P(-25<X<25) = p(-15<Z < 1.666) = 0.9522

b p(X<2a+1) = 0.3=>p(2<2“; 19) = 0.3.-.2“;19 = ©71(0.30) 2a = 19+ 3 x &1(0.30)

-1
Therefore, a =8.71 ¢, p(X > 2a|X>2a—1) = _2ZX>2a) _ p(X>19+3 x #-1{0.30))

T p(X>2a-1) P(X > 18 + 3 x -1(0.30))

- 080448 _ 318X <0) = ofx2(x . . T
= 5as3is ~ 00109 d. p(X3-18X2<0) = p(X3(X -18)<0) = X <18) = p(z< 3) = 0.2525

a. 2a-a

= ©70.85) = a = J/bx $-1(0.85) —(1)

17_'1;9 = ®7065) = 1-a = Jox ©71(0.65) —(2)

- -1 -1' . _ 1
M+ 1 = Jo(®1(0.85) + 9-1(0.65)) -../5 = ISP = Ty

b= 1
(®71(0.85) + ®-1(0.65))2
5. X~N(50,1.25%), p(49 <X <52) = p(-08<Z< 1.6} = 0.7333 . That is, 73.33%

<2) = 06 p(X=F 2=8 _o6.2-% o _ k= fod-
6.p(X<2)—G.§..p(J_ J}X) _0.6..J5’ = @10.6) » 2-x = .5o-1(0.6) (1)

. Therefore, b = (1.4947 Sub into (1xa=0.729

~ Also, p(X>3) = 0.2=> p(X<3) = 08 .-.i}x = ©71(0.8) & 3-x = Hd-1(0.8) «2)
y

Solving, (2) - (1): 1 = H[®1(0.8) - ©-1(0.6)] -y = ( =T 8)1 e 6))2 = (1.6998)2 = 2.8896

Sub. into (1): x = 2~ 1.699801(0.6) = 15693 . . p(X>1) = 0.6312.
7. 5‘%‘& = -1(0.5) 50— = 0%-1(0.5) 1) & .8‘{-‘;“ = ©71(09) & 80— = 0®-1(0.9) 2)

- M = ~1 — Pt y = 30 =
@)~ (1): 30 = o[®-1(09) - ®-1(0.5)] ¢ ST05)- 8703 10.251485...

.30
: @-1(0.9) - d-1(0.5)
L oap(X > 60) = normaledf(60,1000000,66.8622,10.2515) = 0.7484

» T~N(12,0022) a.i p(T>1205) = normaledf(12.05,1000000,12,0.02) = 0.0062
#(T <11.96) = normaledf(~1000000,11.96,12,0.02) = 0.0228

{ 8ub. into (1): p = 50— x®71(0.5) = 66.8622 .

_ (T >1205) _ 0.006209... _
p('>12.05|T > 12.02) = PT>T1205) = 01555 = 00391

p = p(T <11.96) = 0.0228, N ~ Bin(10, 0.0228). p(N=<2) = binomedf(10,0.0228,2) = 0.9987
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1) Derive the Poisson distribution p(x) = from the Binomial distribution

p(x)=,C p*(1-pY™ as n->w,
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2) Derive the E(x)= u for the Poisson Distribution. q =R ,—f
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